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JIEfiz K % 5% il 20| GR |HDCP| NET | f@®& JIEfz K % 5% | ZAM| GR |HDCP| NET | f@®&
BB tE 8N | 37|41 78| 7.0 |71.0 |[AE B i =z 38|46 | 84 |15.0 | 69.0 |[AE
#E| UT = | 38|40 78 | 6.0 |72.0 | AE #E| KH B 46 | 41| 87|18.0 | 69.0 |AE
3 A = | 37|42 79| 3.0 |76.0 | A& 3 A& RN&E 41| 42| 83|13.0|70.0 | AE
4 HA FE |42 | 41 83| 7.0|76.0 4 wEH R 3947 | 86/|16.0 |70.0
5 ¥R BB | 43| 40 83| 7.0|76.0 5 iR —Bp 44 | 44 | 88 |18.0 | 70.0
6 HH BE |36 44 80| 3.0|77.0 6 wE DME 43 | 41| 84 |13.0|71.0
7 I5A FFE | 43| 40 83| 6.0|77.0 7 wH IEE 45| 43| 88 |16.0|72.0
8 BN 8K 43|41 84| 6.0 78.0 8 O ES 43 | 44| 87 |14.0|73.0
9 JVH ¥ |38)48 86| 8.0 |78.0 9 alE BA 43 |46 | 89 |16.0 | 73.0
10 B0 B | 42 ] 39 81| 2.0|79.0 10 Kb &z 45|44 | 89 |15.0|74.0
11 ik =IE | 40 | 48 88| 9.0|79.0 11 finlar 54 44 147 | 91|17.0 | 74.0
12 88 E— | 45|41 86 | 6.0 |80.0 12 Fi Zz 47 | 45| 92 |18.0 | 74.0
13 NEERA | 40 | 43 83| 2.0 81.0 13 wWHE = 45| 43| 88 |13.0|75.0
14 =H =& | 41|46 87| 4.0 |83.0 14 e B 44 | 44 | 88 |13.0|75.0
15 ER HE | 45| 42 87| 4.0 |83.0 15 ¥ = 42 |1 47| 89 |14.0|75.0
16 S BE | 46 | 43 89| 6.0 83.0 16 By & 42| 52| 94 |18.0|76.0
17 a8 M2 |41 50 91| 5.0 |86.0 17 WoE5— 45| 45| 90 |13.0|77.0
18 &H BE=F | 50| 42 92| 6.0 86.0 18 =2 aE 5041 91|14.0|77.0
19 B B 44 | 51| 95/|18.0|77.0
20 Ak BH 50 45| 95|18.0 |77.0
21 BEH E& 48 | 47 | 95|16.0 | 79.0
22 AR & 46 | 50 | 96 |17.0 | 79.0
23 EHE - 51 /45| 96 |17.0 | 79.0
24 Biy 52145 | 97 |18.0 | 79.0
25 B BE 51146 | 97 |16.0 | 81.0
26 (AT =14 48 | 49| 97 |16.0 | 81.0
27 it = 51148 | 99|17.0 | 82.0
28 g K 48 | 52 | 100 | 18.0 | 82.0
29 =HERE 5150101 |18.0 | 83.0
30 P& I 47 | 54 1101 | 18.0 | 83.0
31 R R 50 | 50 | 100 | 16.0 | 84.0
32 TH i 50 | 51 /101 |14.0 | 87.0
33 [l Ez 50 | 53 /1103 | 15.0 | 88.0
34 L% &l 53|53 /106 |18.0 | 88.0
35 B2 B 53| 51/104 |14.0 | 90.0
36 HEEY  PER 50 | 58 | 108 | 18.0 | 90.0
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